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1， Introduction 
In IMS specification (24.229), for AS Third-party registration, the registration request is only related to PUI, if one specific PUI is shared by different user (has different PVI), then the next third-party registration will replace the previous one for the same PUI. 
In TS 24.229, subclause 5.7.1.1 ,”Notification of Application Servers about registration status” it said that “
e)
for initial registration and user-initiated reregistration (subclause 5.4.1.2), the registration expiration interval value, which shall contain the same value that the S-CSCF returned in the 200 (OK) response for the REGISTER request received from the UE;”
The procedure can be indicated as below:
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UE1 (PVI1,PUI1) and UE2(PVI2, PUI1) share the same PUI1, UE1 registers to the IMS network with the Expire value T1, when the registration success, S-CSCF sends a Third-party registration request with the same Expire value T1.
Then UE2 sends a REGISTR request with the Expire value T2, when this registration success, it will trigger the S-CSCF to send a new Third-party registration for PUI1 with the Expire value T2, and this Third-party registration will replace the previous one.
If at some moment, UE2 is de-registered，because PUI1 is still valid at UE1, the S-CSCF will not send third-party de-registration request to the AS for PUI1.
Now the Expire time at UE1 is T1, but the expire time at AS is T2.

The problem is if T2  is small than half of T1,  the third-party registration for the AS will expire before UE1 send a re-registration to update the previous registration. At this moment, the registration status of PUI1 at AS is de-registered, but at S-CSCF is still registered. If UE1 wants to request some service at this moment, the AS can not provide the service, because the AS would think the user is de-registered.
2， Solution
When a User using a PUI successfully registered to an S-CSCF, the S-CSCF will store the Expire value for this registration for the PUI. If the S-CSCF receive another registration request for the same PUI but different user (different PVI or another registration using OUTBOUND), after this registration successfully finished, 
Option 1: the S-CSCF will compare the Expire value used in this registration and the previous stored Expire value for the same PUI, choose the longest value and used it as the Expire value to send the third-party registration request. 
Option 2: the S-CSCF will check whether the Expire value used in this registration is longer than the previous stored Expire value for the same PUI,

If it is, the S-CSCF will send a new third-party registration request using the new Expire value; 

If it is not, the S-CSCF don't need to send a new third-party registration request.

3， Proposal
It is proposed to choose one of the above solutions. 
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